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restart :
LaplaceFunction = 52 j_4) wE
LaplaceFunction = 5 5 €))
(Sz + 4)
with(inttrans) :
OriginalFunction = invlaplace(LaplaceFunction, s, t);
OriginalFunction = % tsin(2¢) )
FirstFunction == ——————: SecondFunction := 2z .
(s--2+4)° (s-°2+4)°
FirstFunction := 7
s +4
SecondFunction := — 2 A3)
s +4
FunctionOne = invilaplace(FirstFunction, s, t);
FunctionOne :=cos(2 t) C))
FunctionTwo = invlaplace(SecondFunction, s, t);
FunctionTwo = sin(2 t) )
FunctionWeLookFor = % -int(cos(2-tau) -sin(2-¢t — 2-tau), tau=0..7);
FunctionWeLookFor = % tsin(2t) 6)
AA = array([[2,3], [1,4]]);
AA 2 @)
14
with(linalg) :
MatExp = exponential(AA, t);
3 ¢+, 1 563 56 3 4
o 4 e + 4 € 4 € 4 e "
atexp ==
LeSt_iez iet—i-ieS[
4 4 4 4
Ident := array([[1, 0], [0, 1]]);
1d. Lo )
ent .=
01
sIminusA = evalm(s-Ident - AA);
s—2 -3
sIminusA = 10)
-1 s—4

InvsIminusA = inverse(sIminusA);



s—4 3
2 2
s —6s+5 s —6s5+5
1 s—2
s2—6s-|-5 s2—6s+5

InvsIminusA =

_> ExpMat := map(convert, map(inviaplace, InvsIminusA, s, t), exp);
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ExpMat .=
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